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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2016 C L«X, 2017 

a]ÁL◊[˝VÓÁ¯ ( Sociology ) 
B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

búˆ Yy ( 6th Paper : Social Institutions ) 
a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

1* Â^-ÂEıÁ„XÁ V«'◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 
 (Eı) ◊Eı\ˆÁ„[˝ ◊[˝◊\ˆ~ W˝Ã[˝„XÃ[˝ Y“◊Tˆ◊úˆTˆ %ÁªJÙÁÃ[˝[˝Ó[˝ÿöˆÁa]…c˜ 

a]„Ã^Ã[˝ aÁ„U aÁ„U Y◊Ã[˝[˝◊Tˆ¤Tˆ c˜Ã^ ? %Á„_ÁªJÙXÁ 
EıÃ[˝”X* 

 (F) \ˆÁÃ[˝„Tˆ Â^ÏU Y◊Ã[˝[˝ÁÃ[˝ [˝Ó[˝ÿöˆÁÃ[˝ YTˆ„XÃ[˝ ◊[˝◊\ˆ~ EıÁÃ[˝„SÃ[˝ 
CYÃ[˝ ◊[˝`„V ªRÙO›EıÁ ◊_F«X* 

 (G) [˝Ó◊N˛ L›[˝X C a]ÁL L›[˝„X W˝„]ÔÃ[˝ \…ˆ◊]EıÁ 
%Á„_ÁªJÙXÁ EıÃ[˝”X* 

 (H) ac˜L C L◊ªRÙO_ Y◊Ã[˝[˝Tˆ¤X`›_ %UÔX›◊TˆÃ[˝ ]„W˝Ó YÁUÔEıÓ 
EıÃ[˝”X* 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) X›◊Tˆ]…_Eı %ÁªJÙÁÃ[˝ [˝Ó[˝ÿöˆÁÃ[˝ mÃ[˝”±ºˆY…SÔ È[˝◊`rÙÓm◊_ ◊Eı ? 

(F) Y“◊TˆúˆÁX ◊c˜„a„[˝ Y◊Ã[˝[˝Á„Ã[˝Ã[˝ ◊[˝◊\ˆ~ Y“EıÁÃ[˝m◊_ ◊Eı ? 

(G) a+◊w¯Ã[˝ ◊[˝◊\ˆ~ Y“EıÁ„Ã[˝Ã[˝ ]Á◊_EıÁXÁÃ[˝ CYÃ[˝ 
%Á„_ÁEıYÁTˆ EıÃ[˝”X* 

(H) %Á]_ÁTˆ„‹óˆÃ[˝ aÁ]Á◊LEı Zı_ÁZı_m◊_ Eı› Eı› ? 

(I¯) ◊[˝`ü[˝Ó[˝ÿöˆÁÃ^ %UÔÍX◊TˆEı C Ã[˝ÁLÍX◊TˆEı Y“◊TˆúˆÁXa]…„c˜Ã[˝ 
YÁÃ[˝&◊Ã[˝Eı a+EÔı ◊[˝‰`¿bS EıÃ[˝”X* 

(ªªJÙ˜) a]Á„L W˝]Ô Eı› Eı› ÂX◊Tˆ[˝ÁªJÙEı \…ˆ◊]EıÁ YÁ_X Eı„Ã[˝ ? 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) Â_ÁEıÁªJÙÁÃ[˝ C Â_ÁEıX›◊Tˆ ◊Eı ? 

(F) ÈX◊TˆEıTˆÁ ÂEıX a]ÁL L›[˝„X mÃ[˝”±ºˆY…SÔ ? 

(G) Y◊Ã[˝[˝ÁÃ[˝ C ◊[˝[˝Ác˜ ◊Eı\ˆÁ„[˝ YÁÃ[˝&◊Ã[˝Eı a+◊EÔıTˆ ? 

(H) a+◊w¯Ã[˝ ◊[˝◊\ˆ~ =YÁVÁXm◊_ ◊Eı ? 

(I¯) ]ÁEÔıa [˝«„L¤ÁÃ^Á Ê`“S› [˝_„Tˆ ◊Eı [˝«◊Mı„Ã^‰ªK˜X ? 

(ªJÙ) %UÔÍX◊TˆEı C Ã[˝ÁLÍX◊TˆEı Y“◊TˆúˆÁ„XÃ[˝ a+„EÔıÃ[˝ CYÃ[˝ 
◊_Y„a‰ªRÙOÃ[˝ ]TˆÁ]Tˆ ◊[˝‰`¿bS EıÃ[˝”X* 

(ªK˜) ªJÙÁYa ◊rÙEıÁÃ[˝› ÂGÁúˆ› [˝_„Tˆ EıÁ„VÃ[˝ Â[˝ÁMıÁÃ^ ? 

(L) ^ÁV«◊[˝VÓÁ C W˝]Ô ◊Eı A„Eı %Y„Ã[˝Ã[˝ Y◊Ã[˝Y…Ã[˝Eı ? 
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1. Answer any two questions : 20 × 2 = 40 

(a) In what ways do different types of 

established normative behaviours tend to 

change with time ? Discuss. 

(b) Write a detailed note on the important 

factors behind the decline of joint family 

system in India. 

(c) Discuss the role of religion in private and 

social life of an individual. 

(d) Distinguish between simple and complex 

transformative economy. 

2. Answer any three questions  : 12 × 3 = 36 

(a) What are the important distinctive features 

of normative behavioural system ? 

(b) What are the different types of family as an 

institution ? 

(c) Highlight on the different types of 

ownership of property. 

(d) What are the different social consequences 

of bureaucracy ? 

(e) Analyse the mutual relationship between 

economic and political institutions in a 

global system. 

(f) What are the negative roles played by 

religion in society ? 

3. Answer any four questions  : 6 × 4 = 24 

(a) What are folkways and mores ? 

(b) Why is morality important in social life ? 

(c) How are family and marriage mutually 

related ? 

(d) What are the different components of 

property ? 

(e) What did Marx mean by the bourgeoisie 

class ? 

(f) Examine the views of Lipset on the    

relation between economic and political 

institutions. 

(g) What is meant by a pressure group ? 

(h) Are magic and religion complementary to 
each other ? 

    


